
Β ΛΥΚΕΙΟΥ ΑΛΓΕΒΡΑ 
 

27.13       1)   

α)   
2x 3 x 43 3 2x 3 x 4 x 7          

β)   

1
13 x 2x

21 1
3 x 2x 3x 3 x 1

2 2



   
          

   
 

γ)   

31 1
12x 4 2x 4 2x 4

52 23 5 3 5 3 3 1 9
2x 4 4x 8 1 x

5 3 5 3 5 5 2 4

   

         
                        

         
 

δ)       
2

2
2

x 11
5 1x 2 x 11

x 2 2 1 2x 4 x 11 21
25 5 5 5 5 2x 4 x 11

5


 

     
           
 

  

1

1,2

2

x 5
2 8

Δ 4 60 64 , x
2

x 3
2x 2x 15 0 5 x 3


 

    



         

 

27.13       2)   

3x 7 x 56 6 3x 7 x 5 2x 12 x 6           

27.13       3)   

1
12x 5 x 2

71 1
2x 5 x 2 3x 3 x 1

7 7

  

   
             

   
 

27.13       4)   

4x 12 4x 12 o13 1 13 13 4x 12 0 4x 12 x 3            

27.13       5)   

3x 7 x 1
8 8

3x 7 x 1 2x 8 x 4
5 5

 

   
           

   
 

27.13       6)   

31
1x 2 x 2

423 3 3 3 1 3
x 2 x

4 4 4 4 2 2

 

     
             

     
 

27.13       7)   

101
12x 1 2x 1

114
4

10 11 10 10 1 3 3
2x 1 2x x

11 10 11 11 4 4 8

  

     
               

     
 

27.13       8)   

 
2x 1

2x 1
1 3 2x 1 31

8 2 2 2 2 2x 1 3 2x 2 x 1
2




   
               

 
 

27.13       9)   

x 4

4 x 21
9 3 3 4 x 2 x 2

3



 
        

 
 

27.13       10)   

 
x 2

x 2x 1 x 11 1
2 2 2 x 1 2 x 2x 1 x

2 2



   
           
 

 

27.13       11)   



   
x 9

x 1 x 9
x 1 3 5 3x 3 5x 451

8 2 2 2 2
32


 

     
      
 

 

3x 3 5x 45 8x 48 x 6         

27.13       12)   

 2 x 2 x 03 1 3 3 2 x 0 x 2 x 2,2
 

            

27.13       13)   

1

1,2
2

2

x 8
6 10

Δ 100 , x4 21x x 5x 16 x 23
2 24 4

x x 5x 16 x 6x 16 0
3 3




 
     

            
   

 

 

 

   x , 2 8 ,       

27.13       14)   

1

1,2

2 2
2

x 3
1 11

Δ 121 , x
4

5
x2x x 15 2x x 15 0

2
27 7 7

1 2x x 15 0
2 2 2


 

 

   

     
            

     
 

 

 

Άρα  η ανίσωση αληθεύει για   
5

x , 3 ,
2

 
      

 
 

27.13       15)   

1

1,2

2 2
2

x 1
1 3

Δ 9 , x
4

4 1
1 x2x x 1 2x x 1 0

5 2
24 4 4

1 2x x 1 0
5 5 5




 

    

     
            

     
 

 

 

1
x , 1

2

 
   

 
 

27.13       16)   

1

1,2

2 2
2

x 4
5 11

Δ 121 , x
4

1 3
1 x2x 5x 12 2x 5x 12 0

4 2
21 1 1

1 2x 5x 12 0
4 4 4


 

 

    

     
            

     
 

 

      

 

 
3

x , 4 ,
2

 
     

 
 

27.13       17)   

x 2x 2x

2xx 1 x 1
1 2x 2x

2 2 2 2x 2x 0
4 x 1 x 1

  
          

  
 

  
1 x 2

2x 1 0 2x 0 2x x 2 x 1 0
x 1 x 1

 
          

  
 

 

 



 

 

Άρα :       x , 2 1,0      

27.13       18)   

1 2 x

xx x 2
2 x 2 x

9 3 3 3 0
x 2 x 2

          

 

  2 2 2 x 2 x4 x 4 x
0 0 0

2x 2x 2x 2x

 
        

 

 

 

 

 

 

 

 

 

Άρα  η ανίσωση αληθεύει για     x 2 , 0 2 ,     

 

27.13       19)   

3 3 23 3 1
1x x x x

32 2 2
3 32 2 2 2 3 1

x x x x 2 0
3 3 3 3 2 2

   

     
               

     
 

 

Η   x 1    είναι ρίζα 

 

Σχήμα  Horner :       

1 0 1 2 1

1 1 2

1 1 2 0



 

 

Άρα     
2x x 2 0 διότι Δ 7 0

3 2x x 2 0 x 1 x x 2 0 x 1 0 x 1
    

              

 
 


